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@ T (circular measurel

e ]9t (radian) = 29| #0] / A
< 1(rad) : HtXIS9] 20| Z0tXl= 29| ZO0|Jt 0I1F= &
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| 360(deg) = 21r/r [rad]l = 21(rad) ‘

| J1d42=, 1(rad) = 180/ 11 (deg) = 57.3°
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f:l= 27 :27r = [=7rb
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(-r, 0) 0 X

(D)

(2)

(3)

(4)

)

(6)

Y x2+y2)

x
cosfl = — (fr:

Y
sinf = —
"
Yy sinf L
tanfd = — = (a:# 0 B~ 60 = n/2, 37r/2)
@ cosf
secd = — = (:1:#0 T 6= 7/2, 37?/2)
x cosf)
r 1 L
cosec = — = (y=0 52 0= 0,7)
Y sinf
T
cotd = — = (20 Yo B2 0.7 )

Yy tanf
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solution
4 3 4
s sinfl = —, cos  =— —, tanf — —
h 5 >
. 5 5 3
i cosecl = —, secl =——, coth =— —
4 | 4 3 4
: 3
cosecl = —, sectl =— —, cotf — —
4 3 4




Af2teto] 9 i AE i
P (X, y)
Yp——
1
0 > X
1 0 X |

cost) = %: e ginf= %: y OlI, iyt 10|mE TS S2]0] A A}

2

(1) cos? 0+ sin"0= z+y’ =1

% ¢ 2
(2) 1+tan®f = 1—1—(%)22 il W S 12 = sec’ f

2 2
€T T cos 6

(3) 1 4cot’ 0 = cosec’ 0




Y
cosf = x, sinf =y, tand=_—O|F 7
T

cos(—0)=axz=cos §, sin(—8)=—y= —sind, tan(—f9) = —— = —tan @

o= 0| AMETHOZE JIZZ cosht +
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1
P(x, y)
Py, X };jx 777777 :
I
s o o >
M0 M= AF2EH] (2) N
-1

W2} m/2+o0 e &4l

(i
—+0
2

v
—+6
2

webs @7k ok Tegol UE T g Azhule] BAS A

= —y= —sinf, sin = x = cos f, tan = —— = —cot f

i iy T
cos|—+60|= —sinf, sin ——1-9)2 cos ., tan ——1—9)2 —cot 6
2 2 2
PEE8000000000000000 00004 _I_I,/2+QE xiol 2Aihh_g Jim*i x v JEJ* leng ................................. -*

sin@t +0] 11, Sin2 c0SC &, coS2 SiNC &, tan= cot= HHH L}
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PIH(X, _y.

mMZ T+o0ll gt Az

—it &
cos(n+6)= —x= —cos g, sin(7+6)= —y= —sin 0, tan(z+0)= —— = — = tan @

cos(m+0)= —cos 0, sin(r+60)= —sinf, tan(nr+60)= tanb

-
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[I+o& &0l 3AEHOE JIOE tantl +




P(x,y)

Hl (4)

Off Uk

=1

—cos 0,

—cos (—8)
—gin(—80)

tan (—8)

cos(m—0)

= sinf,

—(—sind )

sin(m—6)

—tan 6

tan(m—6)

ooooooooooooo

— —tan @

tan(m—6)

sinf,

sin(mr— @)

= —cos 0,

cos(mr—6)
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(1) sin , (2) cos630° (3) cot( (4) secl140°
solution
257 s 20T m T 1
(1) ——=4r + —O]EE sin = qinldr—+ — | =gin—— =—
6 6 6 6 6 2

(2) 630° =360" + 270" O]EZ ¢0s630° =cos (360° +270° ) =cos270° =0

27 27 s i
(3) _7:_7W+—O]£ cot| — = cot| —T7Tm+ —|=cot—=1
4 4 4 4 4
(4) 1140° =3x360° +60° 0| 2=
1
secl140° =sec(3x360° +60° ) =sec60° = —=2




sinx 3

y:

3/211

II

1/211
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sSin X

y:




y = cos x9] i






z) . T7]d(periodic function)

(
3T p 0 T f (@)Y F7)(period)
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*

cos (x+2nm) = cos T sin( z+2n7 )= sinzx ; tan( x+n7m)= tan x

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

sin, cos FJ| : 2II
tan F£J| : II




et F71(2)

y=sin O y=sif Bx_
S

sinx9 FJ| : x=211 Sin3x9 FJ| : 3x=211 > x=2II1/3

Y

y=sinx y=sin 3x

y = sin x2 y = sin (3x)9 D



y = sin x2 y = 3sin x9 JiZ




Hd (33018)

sin (

y:




vy =r sin (wx - a)

M AUk =r , HA2EA = -r
(iDFJ] : 211/ w
(ifi) 0IF : &9 X= YPO=Z UF OIS

y =r tan (wX - a)

() tane FIJL 11 0|82 F|e 1] w
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(1) ySiﬂ(100W$+Z (2) y=cos (45° z+30°) (3) y:tang
solution
100zx=2r 450 x= 3600 X/2 =1
2T 1 360 ° 7T
(1 = 2) ——=38§ 3) —=2
) 100m 50 ) 45 ° () 1/2 "



